12,000 120%

3.82 3.84

10,000 - 100%

H18 48  — H22 78%
8,000 - B0% N

e~ 3.8
364 3.67 A.75 3.76
6,000 - 60% -
¢ —3%% &
20% 3.63 3. 36

4,000
3.52 3.51
2000 7 - 20% 3.45 34 3 N
0 0%
H13~H17 H18 H19 H20 H21 H22 H18 H19 H20 H21 H22 H23
Fiy
=
o
=
=7 (H17 H21 )
i
£
5 n
C
©
<
x 528 (
2 I N B
= )
0 200 400 600 800




Q
o
O
-
o
X
¢
=
L
%))
cC
©
e
2
2
=

400

300

200

100

H18 371

- H22 74

297

H19

H20

H21

H22

(h)
0:50

0:40
0:30
0:20
0:10
0:00

0. (:44
0:36
0:31
/0 0:28
\\\,/6711
H18  H19  H20  H21 H22
VICS




